ANNUAIL EXAMINATION 2/2018
CLASS : VIII
SUBJECT : COMPUTER SCIENCE

Time : 3 hrs MM : 80
Q1. Choose the correct answer and write il in ihe answer
sheet: T ({10x1=10)
(a) A sel ol characters that represent a valid value.
(1) Record (ii) Dala
(iii) Field (iv)] Table

(d]

(e)

(f)

A.device that connects wireless communicalion
devices to form a wireless nelwork.,

(i)  WAN (i) Ethernet Cable
(iii) WAP (iv) Nodes
Shorteut key used to quil MS-Access.
M Ctrl+Q (i) AlL+S

(i) Ctrl+ W (iv] Alt + F4

It is a computer network created [or an individual
DErson.

(iy WAN (i) PAN

(iii) LAN (iv) MAN

It is used to change appearance and size of various
controls of a Form.

[i]- Design View (i) Layout View

(iii) Form View (iv) Prini View

These are the set of rules that determine how data
should be transferred over network.

(i) Cables (ii) Hubs

(iii) Protocol (iv]. Cards

It means protecting data and resources lrom
unauthorised access.

(1)



Q2.

(i)  Network Architecture
(i) Network Security =
(iii] Network Topolog
(iv)] Nome ol these
(h)  Year in which Blogger was launched.

(i) 1987 () 1988
(iii) 1999 (iv)] 2000
(il  Property used io set mulliple criterfa in a Query.
(i) Show (i) Sort
(iif) ON (ivi OR

() Prolocol with which computers connected to infernet
communicate with cach other,

({7 FTE (i) 27 H T
(iii) TCP/IP (iv) SMTD
Give one word answer for the [ollowing statements :

(10x1=10)

(@) Itlis the most commonly used network card.

(b)  Name the founder of Skype.

(@)  Shorlcut key to save changes and close the table in
MS-Access.

(d) Number of languages info which a message can be
translated in skype.

(c) It relers to a computer networlk restricted (o an
organisation.

i} View' in which we can enter. edit and view data in

© aForm.

{g) Term used for computers lhat are connected to a
SETVEL,

(h) This praperty allows us o filter the data either in
ascending or descending order.

(i)  Standard filename extension for database in Access
2016.

(2)



Q3.

Q4.

Q5.

Q6.

() This acts as a central point of connection for all
computers on a network and every computer plugs
into it.

Answer the following questions @ (Bx3=18]

(8) What are Relationships’in MS-Access?

(h) Explain Mesh topology.

(c) Whatdoyou understand by ‘RS57

() Explain any three views in which a Report can be
displayed in Access.

(8 What is a ‘Query’? Name ils lypes.

() Whatdoyou understand by ‘Local Area Nelwork™

Differentiate between (he following (wrile two points each).

(5x3=15)
(a)  Flat file and Relational database
(b} Short Text and Long Text datatype-
(¢) Forms and Reports
(d) Skype and Blog
() MAN and WAN
Wriie notes on . (Grid=12)

(w) Validation Text (b) Real Time Comimunication

(¢) Multimedia (d) Primary Key

[e) Modem 7 ()  Network Topology
Complete the following sentences and rewrite the complete
sentence in the answer sheet : (5x1=5)
(a) datatype is used to store monelory data.
(b) In network few computers having equal

capacity and capability aré connected to each othier.
) A key is a value in one table thal must
match primary key ol pther table.
(d) WIFI stands for

(3)



(c)

is a popular Plug-In that plays streaming
audio/video liles. .

Q7. Consider a ‘Books' fable in a ‘Library’ databese and answer
the questions ;
. (i)
[llﬂ 1‘
BOOKNAME CATEGORY |  ACCESSION | PRICE [ ISSUEDATEH
NUMBER
Reader's Digest | Magazine 44()1245R 140 | 12/12/18
MTook | Cowschook]  79010BJR | 340 | 11/05/17
India Today Magazine 3479945R 110 | 09/09/17
Treasure Island | Coursebook|  790127JR 145 | 11/09/17
(a)  Name the datatype used for Issue Daie and Accession
Number, (2)
{(b)  Which field can be kept us ‘Primary key'. m
() Write 'Validation Rule' and “Validalion Text' for
following liclds :
(i) Category should accept cither “Magazine” or
“Coursebook”, (2)
(if)  Price should be above 50 and less than 500.
(2]
(d)  Identify the table elemenls marked as (i) and (ii).
(1)
Q8. (a) Sudhankaris a CEO of a multinational company.
He has to interact with national heads of 5 companies
together. Which [eature of ‘Skype’ will allow him to
share his computer screen with all other heads
involved in the call. (1)
(b) Raman has setup a new office which is fully

computerized. Name the lopology used in his office
ifall the nodes are connected in a cireular manner.,

(1)

(4)



ANNUAL EXAMINATION 2/2018
CLASS : VIII
SUBJECT : SCIENCE

Time : 3 hours MM : 80

General Instructions :

(i)l This paper consists of three sections A, B and C.

(i) Marks are indicated against each question.

(iii) Draw neat and well labelled diagrams wherever
required.

SECTION-A (PHYSICS)

Q1. Answer in one word or one sentence ; (Ax1=5)

(a)

Why does the magnetic compass show deflection
when it is placed near a current carring wire?

(b) What happens in a tug of war when two teams
pull equally hard?

(¢) Name the planct which is also known as ‘Red
Planetl’

(d) Why does Lhe [illament of a bulb gets heated when
electric current passes through it?

() A racket has heen fired upwards to launch a
satellite in its orbit. Name the two forces acting
on the rockel immediately after it leaves the
launching pad.

Q2. Answer briefly : (4x2=8)

(a) Why do porters place a thick round piece of eloth
on their heads when ihey have lo carry heavy
loads?

(b) Is it safe for the electrician to carry out electrical

repairs outdoors during heavy downpour? Explain.

(1)



(¢) Dilferentiate between new moon and [ull moon
day. €
() Two plune mirror=ure inclined at 8907 to each
other in the given figure. A ray of light 18 incident
on one of the mirrors as shown in the figure.
Draw (he reflected ray from the second mirrof.
j :
y
A4
2]
7
;i
g
§7/f///ff S LI
Q3. Answer the {ollowing : [3x3=9)

(a) () Drawaskeichio show the relative position

of prominent stars Orion. :
(i) Name the siar hich can be located with
the help of Orion.

(b) () Whatlis eleciroplating?

(i) Which electrolyte should we use if we want
to electroplate copper over iron?
[iii) Why is zin¢ coated on iron bridges?

(@) () A man exeris a préssuic of 12 Pascal by
applying a force of 84N on a box. Caleulate
the arca over which the force is applied.

(i) Give an example where force changes the

shape of an object.

(2)




Q4. Answer the [ollowing : (5)
(a) Labeltheparts A B, C and D in the human eye.
(h) What are the functions of part A?
(¢) Why can an eugle sec clearly during the day but
nol at night?
SECTION-B (CHEMISTRY]
Ql. Answer in one word or one sentence : (5x1=5)
(a) Name the only metal which is found in liquid
stale at room temperature.
(b) We are not advised to sleep in a closed room
with burning coal. Give reason.
(] Write any two uses of plasiics in health care
industry.
(d) Meniion lwo condifions under which water cannot
he used as a fire extinguisher.
(e) All plastics are made up of long chain molecules
called
Q2. Answer brictly : - (4x2=8)

(a) ‘X isasynthetic fibre made from a raw material
obtained from planis.

(i) Identily ‘X
(3)



(i) Name Lhe raw malerial used o prepare X'

(iff) Write its any {wo properiies. =

Rahul took two balloons. He inflated one of the

balloons with air and tied it with a knot. He po ured

half a cup of water in the other balloon. inflated

il and fied it with a knot. Then he put both the

balloons above a lit candle. Which one will burst

first and why?

Reena found her mother storing pickle in metal

conlainer. She advised her mother Lo use plastic

container instead of metal.

(i) Which value is shown by Reena?

(i) Why is plastic preferred over metals for
storing pickles?

Name the metal or non-metal used for the

following:

(i)  making foil for wrapping food

(ii) in crackers

(iii) waler purification

(iv) as a fertilizer

Answer the following = (3x3=9)

(a)

(b)

(i) Whatisa fuel?

(if) Write any three characteristics of an ideal
fuel.

(i) Which unitis used to express the calorific
value of a fuel?

Rohit took some dilute hydrochloric acid in a

test tube and added a small pellet of an element

‘A’ to it. On bringing a burning matchstick near

the mouth of Lhe 1€8t {ube a pop sound was heard.

(4)



Q4.

Ql.

(c)

(i)  Classily the element ‘A’ as a metal or a non-
metal,

(il Pop sound indicates Lhe evolution of

gas.

(iii) How is rust lormed? Explain with the help
of an equation.

Most people preler synthetic fibres to the natural

ones. Siate the advantages of synthefic fibres.

Answer Lhe following : (5)

(a) Differentiate beiween thermoplastics and
{hermosetting plastics on the basis of
(i) arrandement of monomers
(ii) elfect of heat

(h) Give two examples each of thermoplastic and
thermosetting plastic.

(c) As a student, suggest any one way in which you
can minimise the overuse of plastics,

SECTION-C (BIOLOGY)

Answer in one word or one sentence : (4x1=4)

(@) Reproduction is an cssential life process. Justily
the statement.

(b) Identify the unicellular organisms [rom the ones
given below :
hydra, amoeba, paramecium, bread mould

(¢) Why do young people gel acne and pimples on
their face during adolescence?

(d) Reproductive phase in females begins with

_ (10-12 years) and ends at menopause
(45-50 years).

(o)



Q2. Answer hriefly : (4x2-8)
(a) Use ol manures in the field is cons .ered
advantageous over [erlilisers. State any fwo
diflerences belween manures and fertilisers.
(b)  Identify the given agriculiural implements X' and
Y' and name the agricultural practice each is
used for.

()] Draw a neat and well labelled diagram showing
asexual reproduction in amoeba.
(d)  Complete the following flow chart and answer
the question that follows :

Parts of Nucleus

|
| ! |

‘A Nuclénlus ‘B

What is the function of part ‘B' which can be
seen only when the cell divides?

Q3. Answer the following : (3x3=9)
(a) Give reason for the following ;
(1) Amit lives near a pond. He always notices
tadpoles in water but no frogs.
(i) Diabetics are given insulin injections,
(iif) Voice becomes hoarse in adolescent hoys.

(b) (i) Define crop.
(6]




(if) India has two major eropping patterns -
Kharif and Rabi. What is the difference
hetween them? Give example of gach.

(c) Although a womunis often blamed for nat giving
birth to a male child, it is actually the nature of
the sperm that determines the sex of the child.
xplain the mechanism of gex determination with
thie help of a flow chart.

Q4. Answer the following: (3)

(a) The figures given below represent different stages
of reproduction in humans. Study them carefully
and answer the questions that follow :

(i) ldentily the siades ‘) and ‘S

(i) Arrange the stages P. 3. R and 5 in the
correct sequence of development.

(i) Deline the process represented in figure Q.

(b) What is the full form of TVE? Under what

conditions do the doctors recommend this

technique in females?
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ANNUAL EXAMINATION 2/2018
CLASS : VIII

SUBJECT : ENGLISH

Time : 3 hrs g MM : 80

General Instructions :

i)
(i)
(iii)

(iv)

Ql.

Read the questions carefully.
Number the answers as given in the question paper.
Write in a neat and clear handwriting.
Write the answers in complete sentences.
SECTION-A (READING)
Read the passage given below and answer the questions that follow : (7)

IL is nol surprising that the shamelul practice of child labour should have played
an important role in the Indusirial Revolution. The displaced working classes,
from the seventeen century on, took it for granted that a family would not be able
to support itself if the children were not employed. In those days, it was thought
admirable that scarcely anybody above the age of four was idle. The economic
conditions were such that the children of the poor were forced to work.

Charles Dickens, the greatest English novelist of the era, started working in (he
Blacking factory at the age of twelve as his family was in the debtor’s prison. In
1840, perhaps only twenty percent of the c¢hildren of London had any schooling;
a number which had risen by 1860, when perhaps half of the children between 5
and 15 were in some sort of school, i only a day school or 3 Sunday school; the
others were working. Many of the more fortunate found employment as apprentices

in respectable trades or as general servants.

Many children worked 18-hours a day under atrocious conditions as their elders
did. Ineffective parliamentary acts to regulate the work of workhouse children in
factories and cotton mills to 12 hours per day had been passed as early as 1802
and 1819, After radical agitation. in 1831, when “Short Time Commitlees®
organised largely by Kvangelicals began to demand a 10-hours a day. a royal
commission established by the whig government recommended in 1833 that
children aged 11-18 be permitted to work a maximum of twelve hours per day:
children aged 9-11 be allowed Lo work eight hours per day; and children under

(C-1)



Q2.

g were no longer allowed o work al all. This act applied only to the textile industry
where children were put 10 work at the age of 5, and not ts @ host of other
industries and occupations. I iron and coal mines. gas works. 5?’1%}’;1_1’65_;
construction, mateh factories. nail factories and the busmess of chimney sweeping,
for instance where, the exploitation of child labour was more extensive, the ban
was enforeed in all of England much later. After further radical agitation, anofher
act in 1847 limited both adults and children (o ten hours of work per day.

(a) What was laken for granted by the displaced working classes? (1)
(h) At what age did Charles Dickens atart working? Why? (nm
(c) What did the act passed by the govcrnment in 1833 recommend? (2)

() Name any two industries where children were employed as labourers. (1)
() In1847.an act was passed which limited Tt
() Find the words from Lhe passage that mean ihe same as given below
{i_) horrifying or bhruial (2xle=1)
(i) the act of treating someonce unfairly
Read the poem given below and answer the questions ihat follow : (8)

I stayed with her when I was six then went

To live elsewhere when [ was eipht years old.
For ages | remembered her faint scent

Of lavender, the way she'd never scold

No matter what I'd done, and most of all

The way her smile scemed, somehow, 0 enfold
My whole world ljke a warm, protective shawl.

. 1 knew that I was sale when she was near,

She was so tall, so wide, 0 large. she would
Stand mountainous between Me and my [ear,
vet OL. so gentle. and she understood

Every hope and dream I ever had

She praised me lavishly when I was good.
But never punished me when 1 was bad.

Vears later war broke out and [ became
A soldier and was wounded while in France.
Back home in hospital. still very lame,

(C-2)




Q3.

Q4.

Q0.

I realised suddenly that cireumsiance

Had brought me close to that small town where she
Was living still. And so seized the chance

to write and ask if she could visit me.

She came. And T still vividly recall

(he shock that I received when she appeared

that dark cloudy day. Huge grannie was so smalll
A liny, trail old lady. Il was weird.

She hobhled through the ward Lo where [ lay

And drew quite close and, hesitating, peer'd.

And then she smiled : and love lit up the day.

(a) At what age did the narrator stay with his grandmother and when did he

leave her? (1)
(b) The narrator said that his srandmother him when he did
good but never __ him when he did wrong. (1)

(¢ Which ‘war’ did the speaker refer to? What profession did the speaker
choose? (2)

(d] Whal kind of relationship did the narrator and his grandmother share? (1)
() Find the words from the poem which mean the same as given below : [2x/a=1)
(i  took hold of
(i) looked with concentration or difficulty
SECTION-B (WRITING)

You arc Arvind/Anushka, secretary of the Eco-Club of your school. Your school
is celebrating ‘Ban the Plastic, Week’ to create awareness regarding harms of
plastic. Draft a suitable notice in not more than 50 words. (4)

Read the outlines of the story carefully and develop them into a story. Also suggest
a suitable title. 4)
Mighty king ruled Roshanpur — wanted people Lo be happy — wanted to find —
able and honest people — disguised as a heggar — [ell into a pit — cried for help
— no one replied — king last hope and realized no kindness left in people’s hear

__ a small boy — rescued i — fung declded — make him next prince.

Write a letler to the Editor of a newspapel highlighting the issue of growing
impact of advertisements in a common man's lite. (8)

(C-3)



Q6.

Q7.

Q8.

Q9.

Q10.

Qll.

SECTION-C (GRAMMAR)

Fill in the blanks with suitable prepositions : (4 A=2)
Garima was playing (a) her friends (b) ___ihe garden.
Her mother kept some chocolate cooldes (c) the jar (d)

the children.

Joiti the following sentences using suitable conjunctions : (2x1=2)

() The leacher gave us the assignment. She asked us fo complete it by M onday-

(b) Hemant was getting late for his interview. He didn't forget o touch his
grandmother's feet.

Fill in the blanks with suitable degree of adjéctivag : (4xV6=2)
(a) Abicycleisa ___meansof transportina traffic jam. (convenient)
(b) Cherrapunji averages the rainfall in India. (high)

(© Monicaisa _ — singer than any other girl in the academy. (good)
(@) English (hons.) is the __ popular course in our college. (more)
Insert appropriate punctuation marks i these sentences - (2x1=2)

(a) Siya asked, Canl take this pen

(b) wowl look-at that wide eved animal

Use the past continuous tense of simple past (o fill in the blanks:  (4x%=2)

(a) He (have) his food when | (call).

o] (mel) Tanya yesierday. She {shop) for her
wedding.

Complete these sentences using suitable determiners : (4xe=2)

(a) You can buy red pens in bookshop.

by [had e biscuits in the morning.

(¢ Idom'twant water, thank you.

() animals care for their young ones.

 Rewrite these sentences after inserting the given adverbs in Lhe appropriate places.

(4x14=2)
(@ Thedoctor measured (he medicine before giving it o the patient. (carcfully)
(b) My grandfather goes out for a walk in the evening. (seldom)

(C-4)



(¢ The children created a lot of mess as they were shouting. (loudly)
(d) All the students pafticipat‘ﬁd in the function. (enthusiastically)
(13, Change the following senieces fnlo indirect speceh : (3x1=3)
(a) Aman said, “My father has bought a mechanical servant.”
(b) Pragail said, “The children are distributing sweets.”
() Rohil said, "Twill reach the airport at 8:00 am.”
Q14. Change the voice of the following sentences : (3x1=3)
(a) The thieves hurgled the Nokia mobile store.
(b) Meenal has spoken the correct answer.
(¢) The officer is checking the papers.
SECTION-D {LITERATURE]
Q15. Read the extracts given below and answer the questions {hat follow :

{A) “Gathered like pearls in their alien graves (3x1=3)
silent they sleep by the Persian waves -

(a) Name the poem and the poet.
(b) Who does the word ‘they’ refer to in the above lines.
() What does the phrase ‘alien graves mean?

(8) “Thatiswhatl thought. And why was she walting about all that time if she
intended to come n?” (3x1=3)

(@ Identify T and ‘she’ in the above lines.
L) Where was she standing and walting?
[c) What excusc dlid she make to come in? :
Q16. Answer any THREE out of FOUR questions in abont 30-40 words each - (3x2=6)
(a) Whowas Anulkul? Why was his master satisfied with him?

(h) How did Aditya cheat Sasanka Sanyal when they werg studying {ogether?
Explain with reference io the story ‘The Altic’.

(¢) Thewoman in white saree tried to protect Arun at the railway aiation. How
did she do so?

(d) The stay at the doctor's clinic transformed Tricki miraculously. Explain
this statement.

(C-5)



Q17.

Q18

Q19.

Answer any TWQ out of THREE questions in about 30-40 words each © (2x2=4)

(a) What is the central idea of the poem 'Ozymandins™?

(b) In the poem. ‘The Gift of India’ what does the poet think about the Tndian
soldiers?

(¢) What role did Tim, the ostler play in the poem "The Higﬁwaman?‘

Answer the following question in 70-80 words : (1x4=4)

The poem ‘The Highwayman’ ended on a sad note. Elahorate this statement.
OR

In the poem, ‘Incheape Rock’ Sir Ralph the Rover was caught in the trap which
he had laid [or others. How did he meet his tragic end?

Answer the following question in 80-100 words : (1x5=5)

Why did the narrator live with his grandmother? What role did she play in his
life?

OR
You are James Ryder. Write a diary entry describing the journey of the blue
carbuncle from the Countess of Morcar's room to Holmes' hotel.

. Answer the following question in 30-40 words : (1x3=3)
How and why did Pip hope to disguise Provis?
. Answer Lhe following question in 80-100 words : (1x5=5)

Who was Mr. Jagger's housekeeper? How did Pip come to know that the
housekeeper and Estella were related to each other?

OR

Why did Pip go to the hut on the marshes? What happened in the hut and who
saved him?

e =2



ANNUAL EXAMINATION 3/2018
CLASS : VIII
SUBJECT : MATHEMATICS

Time : 3 hrs MM : 80

General Insiructions :

(i)
{ii)
(iii)
(iv)
v
{vi)
Gl

Q2.
g3,
Q4.

Q5.
Q6.

Q7.

Q8.

Q9.

All questions are compulsory.

Read all guestions very carefully.
Questions 1 to 6 carry 1 mark each.
Questions 7 to 12 carry 2 marks each.
Questions 13 to 22 carry 3 marks each.
Questions 23 to 30 carry 4 marks each.
, i
Evaluate {E]
Name the axis on which the point (5. Q) lies.
Find the product of 4p and 0.

What is the possible value of x if 623x is a multiple

of 87

G
Solve %X =30

Find the area of a rhombus whose diagonals are 8em
and 12em respectively.

Construct a rectangle ABCD where AB = Scm and
BC = 4cm.

Find and correct the error in the given mathematical
statement. '

X+ 7x+13x=20x

If Kiran had ¥ 600 left after spending 75% of her money.
How much money did she have in the beginning?

(1)



Q10.

Q11.

Q12.
Q13.

Ql4,

Q15.

Q16.

@17,

Q18

Q19

Q20.

Find the value of A and B in

2. A
L 3
B 1

Express :

(a) 3921000 in standard form.

(b) 3.7 x 107* in usual form.

Find the value of n for which 5 x 5% = 5%

The sum of three consecutive multiples of 6 is 666.
Find the multiples of 6.

Factorise and then divide : 5z (9x2 — 16y?) + (3x + 4y)

3 o=
33 %52

Use ihe laws of exponents and simplify °

Find the value of P, Q and R in
P g
i Kl
R P Q
What amount is to be repaid on a loan of ¥ 12000 for

1
1 2 years at 10% per annum compounded half yearly?

(a) Simplily (a2 +5) (b> +3) + 5
(b) Show that
@a-blla+b)+b+c)b-c)+lc-a)lc+a)=0
Construct a quadrilateral PQRS where PQ = dem,
OR = 6cm, RS = bem, PS = 5.5cm and PR = Fem.
Simran painted the outside of the cuboidal box of
measure 50cm x 40em x 25¢cm. How much surface
area did she cover if she painted all surfaces except
the bottom of the box?

(2)



Q21. The graph given below coOMpares the sale of ice creams
of two vendors for a weelk. Obscrve the graph and answer
__ne following questions.
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(a) Which vendor has sold more ice cream ol Friday?

(b) For which day was the sale same for both the
vendors?

(¢) Onwhich two days was the sale same for vendor
B?
Q22. In the given parallelogram BEST if ZE = 707, then
find the values of x, y and z.

Q23. Solve and check the result : 3x -7 =X+ 5
3



Q24
. Q25.

Q286.

Q27.

Q28.

Q20.

Simplify using identities :

G es? (b) (4a-9)(4a-9)
Construct a rhombus whose diagonals are 7em and
Sem long. Also write the steps of construction.
Kamal donated his pentagonal

shaped piece of land for B
constructing a hospital in his
home town so that people can T
get the treatment when stom
needed. The measurements of e : l,
land are given in the figure. c—Iom—7>

(a) Find the area of the land donated for a hospital.

(h) What value of Kamal is shown here?

Factorise :

) x-xy+8x-8y () x+8x+18

Rajat bought goods worth ¥ 75660 and spent T 1440
on repair and packaging. He sold the goods for T9200.
Find his overall gain or loss percent.

The following table shows the number of books borrowed
on each day of a week in a school library. Plot %the
information on the praph and state whether it is a
linear graph or not?

Days Monday | Tuesday | Wednesday | Thursday | Friday Suturday
Number of Books| 13 0 P 0 £ 40
~330. Find the value of 2 + b + ¢ in the given figure.
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ANNUAL EXAMINATION 2/2018
CLASS : VIII
SUBJECT : SOCIAL SCIENCE
Time : 3 hrs MM : BO
General Insiructions ;

(i) Read all the questions carefully and number the
answers according to the guestions.

(ii) Questions carrying I mark should be answered
in one sentence.

(iii) Questions carrying 3 marks should be answered
within 60-80 words.

(iv) Questions carrying 5 marks should be answarad
within 80-100 words.

(v} Attach the maps properly to the main sheet.

Q1. Answer the following questions in one sentence eacly:

(Gx1=6)

(il  ‘Shefounded a widows home (o provide shelter
to ill (reated women’, Name her.

(if) Define smelting.

(iii)  Which Article of the Indian Constitution states
that practising untouchability in any form is =
punishable crime?

(iv] What do you mean by law enforcement?

(v) Ifthe population pyramid of the country is broad
at the base and narrow towards the fop, what
does it represen(?

(vi) Which is the largest textile f?:lf,}r of India?

1)



@2
"@3.

4.

Q8.

Q9.

Q10.
Q11,

Ql12.

Q1s.

Ql4.

Diseuss the role of planning comunigsion mumediately
after independence. - (3
He was the founder of Brahmo Samaj’. [dentify him
and write the contributlions made by him. | 1+2=3)
Whal were the prohlems faced by Indian textiles in
European countries during the 18th cenlury? (3)
The Constitution demarcates the powers of the central
and state government through three lists’. Explain.

(3)
Discuss the impact of marginalisation on adivasis.

(3)
Why do you think the government must assume (he
overall responsibility for the Provision of public
facilities? (3)
What do you understand by the term minority? Give
any two reasons why the Constitution protects the
minority communitjes. (1+2=3)
‘Resources can be classified into three hroad
categories’. Discuss, (3)
Write a short note on plantation agriculiure, (3)

Distinguish between actual and poteniial resources.

(3)
This fibre crop is also known as golden fibre’. Identify
it and write the geographieal conditiogs required for
ils growth, (1+2=3)
‘The conflici between Bengal nawabs and the East

India Company eventually led to the Battle of Plassey’,

Discuss. )]

Discuss the features of Non-cooperation movement.

(5)

(2)



* QI5. () Why do foreign companies sci up their
= production units in India?

(b) Alawon minimum wages is an important need’.

Give two reasons. (3+2=5)

Q16. What is reservation policy? Briefly explain its working.
(1+4=5)

@17, Explain the key leatures of the Indian Constitution.
(3)

@18. Discuss the geographical factors responsible for
uneven distribution of population in the world. (5)

Q19. (a) Which industry is known as feeder indﬁstry‘?

(b)  Classify industries on the basis of ownership.
(1+4=D)

Q20. Attempt the following maps :

(@) On the provided political map of India, name
and mark the following : (3x1=3)

()  An area ruled by Ranjit Singh.

(i)  Place where non-cooperation movement
was called off.

(i) State where Bhilai steel plant was set up.

(b)  Onthe provided political map of the world, name

and mark the following : (3x1=3)
(i) —TheTmost sparsely populated country.
(i} Manchester of Japan.

(iii) Silicon plateau

(3



ANNUAL EXAMINATION 372018
CLASS : VIII
SUBJECT : FRENCH

Time : 3 hrs MM : 80

General Instruciions :

{i)
(ii]
(i)

fiii)

Al.

Al.l

Al.2

"Read all the questions carefully.

Number the answers as given in the guesiion paper.

Write in a neat and clear handwriting.

Write the answers in complete sentences.
SECTION-A [COMPREHENSION ECRITE]

Lisez :

Bonjour! Je suis Laura el je suls née a New York. Mon

mari est ne & Madrid. Il s'appelle Paulo. Nous nous somimes

mariés il y a deux ans. Maintenant nous habitons 4 Paris.

Avant Paris, nous sommes restés 4 Londres pour deux

ans. Nous sommes partis de Londres en 2016. Jaime

Paris plus que Londres. J'ai vu tous les monuments et

j'adore le Louvre. J'ai visité ce musée plusieurs fois. Nous

aimons la cuisine ici et surtout les fromages comme brie

et reblochon.

Répondez aux questions, (2x1=2)

i}  Quelles sont les choses que Laura alme a Paris?

(ii) Laura et Paulo se sont mariés depuis combien

d'années?

Dites vrai ou faux. (4x1=4)

(i) Laura habite a Londres.

(ii} Elle esi néc a Madrid.

(i)  Ele a vu lous les monuments.

(

iv) Tls sont restes a Londres pour deux ans.

(1)



CAL3

A2.1

A2.2

A2.3

Bl.
B2.

Donnez l'infinitif, (4xbh=1)

(e (i) partis = i
() ova=_ o (V) suis = s
Lisez le texte.

Le train & gfancle vitesse (TGV) est en eirculation depuis
le debui des années 80). Beaucoun de voyageurs francais
et ctrangers ulilisent ce train, I1s trouvent ce train plus
pratique et economieue. Touies les grandes villes en France
ont une garede TGV, En reliant les villes curapeennes, le
TGV a des noms différents. Pour aller en Allemagne, en
Belgique ou aux Pays-Bas, le TGV est nomme le Thalys

el pour aller i Londres, le TGV esi nomme I'Eurostar.

Répondez. (2x1=2)
() Quest-ce qtie clest [e TGV?
(i) Quel est I nom de TGV Ui va a Londres?
Dites vrai ou faux, (4x1=4)
() Le TGV quiva aux Pays-Bus est le Thalys.
(i) Il esten circulation depuls le débul des années 80,
(i)  Beaucoup dc voyagdeurs anglais utilisent ce {rain.
(tv)  Toutes les grandes villes en Franee ont une garede
TGV,
Completez avee un mot du texte, (2xie=1)
() Jesuis allé chercher mon sncled la L (gare/
train)
(i) En France, nous pouvons trouver ___ fromages.
(grande/beaucoup de)
SECTION-B [EXPRESSION ECRITE]
Quels sont vos projets d'avenir. Ecrivez 6-7 projets. (5)
Mettez le dialogue en ordre, (5]

Client  : Bonjour monsicur

Employé . Out madame. Volla les choses,

(2)



B,

B4.

Client - Je vais prendre une baguette el slx pains au
chocolal.

Employé : Merci madame. :

Client  : Pour finir, j& veux une briache, 571l vous plail.

Employé : Bonjour madame, guwest-ce que vous désirez?

Client  : Voila 6 euros 20.

Employé : Alors, une baguette, six pains au chocolal et
une brioche. 6 euros 20, sl vous plait.

Clienl  : Merci. Ca fait combien?

Employe : Voila, quoi d'autre?

Client : Merci monsieur. Au revoir!

Vous invitez votre amile) pour voire anniversaire. Redigez

cette invitation. (5)

Regardez I'image et répondez. (2+3=0)

@ Qu'esi-ce que c'esl?

(ii)

Que les enfants. jouent-ils?

{5) 1|

Quel magasin est-il?

Que peut-on acheter dece magasin? Nommez

deux choses.




Cl.

C2,

C3.

C4.

SECTION-C [GRAMMAIRE]
Cochez la bonne réponse. (10xL=R)
() Hier, {"ai (connu/recu/6té) une carte,
(i) Marie donne le sac (au/al/ a) homme.
(iti) Elle aime (la/de 1a/1e) salade verte.
(iv) Clestle parapluie [du/d'/de) Antoine.
(v  Nous avons (pris/mis/ compris) le couvert.
(vi) : Elles (ont/vont/sont) vu une dispute. |
(vi) Vous (8tes/avez/allez) sorii hier SOIr.
(vili) Angeline ei sa . meére sonl (allees/allés/alles) au
cinema.
(ix) Jene mange pas (de/des/d’) tartines,
() Tuas (un/une/des) chapeau rioir.
Mettez les verbes aulfutur simple. (5x1=5)
(1] _ beau demain. (faire)
(i) . une lettre. (envoyer)
(iii} Quand ils le projet? (finir)
(iv) Monigque e hus. (attendre)
(v Tu__  travailler seul. {devoir)

Conjuguez les verbes pronominaux au passe composé 4
la [orme affirmative. (3x1=3)

(i) 1l se coycher.

(i)  Vous se Javer.

(iif)  Elles s'habiller.

Mellez au négatif. - (3x1=3)
() Victor voit quelqu'un dans la chambre.,

i) J'ai acheté quelgue chose de cette boutique.

(iii) Tu vas encore a 'école,

@



Chs

L2

C6.

27

C8.

9.

C10.

Dl.

Transformez les phrases 3 'impératif. (3x1=3)
(il Tuouvres ta houche.

(i)  Vous mangez chez Luc.

(i) Nous nous levons 4 8L,

Mettez les phrases suivantes a la forme inferrogative en
utilisant la forme mentionée. (3x1=3)

(i)  Tls mangent peu de chocolat. {11)
(i)  Nous aimons les [ruits. (1)
(iii) Le tableau est bas. (I)

Donnez le participe passé des verhes suivants. (4x44=9)

¥

(i)  naitre (i) remplir
(iii) falloir (iv) aller ]
Corrigez la faute. (2x1=3)

(i)  Lisa est &té fatisuée.

(ii)  Je fais de crépes le solr,

Retrouvez les phrases. (2x1=2)
(i) sont/a/heures/lls/arrivés/dix

(ii) une/robe/eu/belle/Elle/a/rouge

Chassez l'intrys, (4x14=2)
(i)  mort, hu, retourné, descendre

(i) du, de la, des, aux

(il banque, restaurant, musée, théatre

(lv] monter, rentrer, arriver, passer :

SECTION-D [LA CULTURE ET LA CIVILISATION]
Dites vrai ou faux. (5x1=5)
() Ilnefaut pas étudier pour réussir.

(ii) Il faut employer bien le temps.

(11) 1y a plus de 300 sortes de fromages en France.

6



D32.

fiv) Letheatre de Guignol estun theatre de marionnettes.
(v) Diwali est une fete frangiijse. =R
Choisissez la honne reponse. (10x%=0)
) la Basilique de Fourviéere est une belle
de Notre Dame.
(a) hibliotheque (b) église
() gare
(i)  Dansunrepas organise, on COMIMmence aves
(a) ducafé (b)  des hors-d'ocuvre
(¢) dudessert
(i) A Marseille,
(a) Tlfera chaud (b) Ilfera beau
(¢) I fera [roid
{iv) Mme. Lavigne a mal
(@) auxjambes (b) alatéle
(¢) alestomac
(v) Les [rancais mangent le dejeuner a
(a) 13h (b) 8h
{cy 10N
(vi) Un pays francophone est
(a) Llnde (b) Le Pakistan
() LaBelglyue
(vii) Les francais sont experts dans la fabrication des
(a) vins (b) fromages
(c) parfums
(viii) Te plus vite des trains francais est le i

(a) RER (b) TGV
(¢) Renault

(8)



D3,

D4,

{ix) est la capitale de la haute couture.
(a) Lyon (b)  Paris
(¢)  Nice
(x) Lemariage de Patrick avec Christine est le
octobre.
(a) 27 (b) 25
(Cl a8
Reliez les colonnes A et B - (Bx16=3)
A B
i)  Labijouterie a] Peugeot

(
ii) Lavoilure francaise (b))  la fuseée Arianne

(=

iv] L'avion ) des fleurs

(

(

(iii) Le monument francais (¢]  des bijoux

( (

(v) Lelleuriste () le Panthéon

(vi) Le stade ()  jouer au foot
Répondez aux questions. (2x1=2)
(i) Quest-ce gu’ Aneesh a annonce?

(11  Quiest né? Comment s'appelle l'enfant?



